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QUESTION 1

During a post-validation assessment, you have configured a client for 802.1X/EAP but it is not passing authentication.
Which areas should you check in the WLAN configuration?

Response:

A. Whether the RADIUS server is online and configured for the matching port on the APs and WLAN controllers
B. Whether the RADIUS shared secret is properly configured on the supplicant and authentication server

C. Whether the authenticator is configured to support the EAP type(s) your client is configured for

D. Whether the client has a fully valid certificate

Correct Answer: A

QUESTION 2

What is the purpose of Friis transmission equation [ (LdB) = 20 log(d) + 20 log (f) - 27.55]?
A. Calculate earth bulge to determine minimum antenna height

B. Calculate receive sensitivity for an 802.11 radio/antenna pair

C. Calculate RF path loss in free space

D. Calculate the loss experienced between the intentional radiator and antenna

Correct Answer: C

QUESTION 3

Using a SCA means that all APs will be using the same channel in a given layer. How is the AP with which the client
associates determined? Response:

A. All APs share a virtual Multicast Address. A controller will tell the closest AP to the client to communicate with it, since
it has a greater RSSI from the client.

B. All APs share a virtual BSSID. A controller will tell the closest AP to the client to communicate with it, since it has a
greater RSSI from the client.

C. All APs share a virtual IP address. A controller will tell the closest AP to the client to communicate with it, since it has
a greater RSSI from the client.

D. The client selects the AP based on a known set of MAC to BSSID mappings stored in the clients authorized SSID
listing.

Correct Answer: D

CWDP-304 PDF Dumps | CWDP-304 Exam Questions | CWDP-304 Braindumps 2/3


https://www.geekcert.com/cwdp-304.html
https://www.geekcert.com/cwdp-304.html
https://www.geekcert.com/cwdp-304.html

VCE & PDF https://www.geekcert.com/cwdp-304.html
2024 Latest geekcert CWDP-304 PDF and VCE dumps Download

GeekCert.com

QUESTION 4

What metric implements the simplest algorithm and lowest accuracy in networks requiring locations?
Response:

A. Angle of Arrival (AoA)

B. Time of Arrival (TOA)

C. Time Difference of Arrival (TDoA)

D. Received Signal Strength Indicator (RSSI)

Correct Answer: D

QUESTION 5

In 802.11, clients are required to be calibrated for RSSI and SNR reporting to:
A. Within +/5 dB

B. Within +/3 dB

C. Within +/1 dB

D. Within +/0.5 dB

E. Within +/0.25 dB

F. No specific value

Correct Answer: F
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